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Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
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8
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Q R S

T

M

L

P

R

N

S

T

Q

O

ε = 4.1

minPts = 5

Seed list:
NPQST
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9

10
11
12

A B

C DD

A B

C

EE

F
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F

E

G H J

I

K

L

K

M

N O P

Q R S

T

M

L

PN

S

T

Q

O

R

ε = 4.1

minPts = 5

Seed list:
NPQST
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9
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11
12
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K

M

N O P

Q R S

T

M

L

PN

S

T

Q

O

R

ε = 4.1

minPts = 5

Seed list:
NPQS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9
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11
12
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Q R S

T

M

L
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O

R

T

ε = 4.1

minPts = 5

Seed list:
NPQS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9

10
11
12

A B

C DD

A B

C

EE

F

G H

I

J

F

E

G H J

I

K

L

K

M

N O P

Q R S

T

M

L

PN

SQ

O

R

T

ε = 4.1

minPts = 5

Seed list:
NPS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9

10
11
12

A B

C DD

A B

C

EE

F

G H

I

J

F

E

G H J

I

K

L

K

M

N O P

Q R S

T

M

L

PN

S

O

R

T

Q

ε = 4.1

minPts = 5

Seed list:
NPS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9

10
11
12

A B

C DD

A B

C
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F

G H
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G H J
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L

K
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N O P

Q R S

T

M

L

PN

S

O

R

T

Q

ε = 4.1

minPts = 5

Seed list:
PS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9
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11
12

A B
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C

EE

F
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E

G H J

I

K

L

K

M

N O P

Q R S

T

M

L

P

S

O

R

T

Q

N

ε = 4.1

minPts = 5

Seed list:
PS
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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3
4
5
6
7
8
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Q

N

ε = 4.1

minPts = 5

Seed list:
S
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 5

Seed list:
S
E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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N P

ε = 4.1

minPts = 5

Seed list:

E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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S

ε = 4.1

minPts = 5

Seed list:

E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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S

ε = 4.1

minPts = 5

Seed list:

E und L nicht
eindeutig!



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
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ε = 4.1

minPts = 4

Seeds:

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:
D

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
2
3
4
5
6
7
8
9

10
11
12

A B

C D

A

C

B

D

EE

F

G H

I

J K

L

M

N O P

Q R S

T

ε = 4.1

minPts = 4

Seeds:
E

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12

1
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3
4
5
6
7
8
9

10
11
12

A B

C D

A

C

B

D

EE

F

G H

I

J K

L

M

N O P

Q R S

T

ε = 4.1

minPts = 4

Seeds:

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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T

ε = 4.1

minPts = 4

Seeds:

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:
K
E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:

E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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T

ε = 4.1

minPts = 4

Seeds:
L
E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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ε = 4.1

minPts = 4

Seeds:

E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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O

ε = 4.1

minPts = 4

Seeds:
MO
E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN

1 2 3 4 5 6 7 8 9 10 11 12
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S

ε = 4.1

minPts = 4

Seeds:

E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1

Aufgabe 3-2
Beispiel

Berechnung

Aufgabe 3-3
ε = 1.1
minPts= 2

ε = 1.1
minPts= 3

ε = 1.1
minPts= 4

ε = 2.1
minPts= 4

ε = 4.1
minPts= 5

ε = 4.1
minPts= 4

DBSCAN
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ε = 4.1

minPts = 4

Seeds:

E nicht
eindeutig!

single-link
artiger Effekt



Data Mining
Tutorial

E. Schubert,
A. Zimek

Aufgabe 3-1
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